( )
No.?2
Td kN/ 205.0
I 1
1 m 3.00
m 1.16 1.50
|2n 4
l2 m 3.00
m 1.50 1.50
h>=b mm 400 < 400
d mm 315
O« N/mm 2 18.0
Oca N/mm 2 7.0
Tea N/mm? 0.400
Toa N/mm 2 1.40
Osa N/mm 2 196.0
Mmax kN m 42 .47
Smax kN 67.95
(N/mm?)
) (mm?) Os Oc T To (mm)
D16 4 794.4 192.3 6.93 0.611 0.611 D13 300 0K







Td = 205.0 (kN/ )

I
O O ’
B —
1 = 1
| = 3.00 (m)
1 = 1.16  (m)
| = 1.50 (m)
| = 4
| = 3.00 (m)
| = 1.50 (m)
| = 1.50 (m)
b = 400 (mm)
h = 400 (mm)

d = 315 (mm)



a A A 0 Q

18.0
7.0
0.400
1.40

196.0

(N/mm?)
(N/mm?)
(N/mm?)
(N/mm?)
(N/mm?)



qg = 600 (kN/m?)
3.00 (m)
3.00 (m)
0.400 (m)

O- — —
oo

Q)
b (I )
0.400>( 3.00 3.00 0.400)
2.24 (m?)
Td  205.0
A T 2.24

92 (kN/m2) 600 (kN/m2) 0K



I 1
1.16  3.00 =< 1 1.50
1 1
2.83  (m)
= 3.00 (m)
) Td ) 205.0
= I b = 2.83 3.00

0.400 = 37.75

(kN/m)
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[ [ i |

R R S S S A

Mmax Smax

Mmax

{1 1) |1

1
[ee]
=

1
= §x< 3.00 > 37.75<{( 3.00 1.50)

=<{( 3.00 1.50)  1.16 }
8.96 (KN m)

Mmax s |1

I
= I\D‘H
=

o < 37.75> 1.50

42.47 (kN m)

if‘é‘r" w1 1 11 )

Smax s

1
=72 =3.00 > 37.75>( 3.00 1.50

62.32  (kN)

Smax s -=

|
=

|1
37.75><1.50
56.63 (kN)

Mmax 4247 (kN m)

62.32  (kN)

Smax

P AC I

1.16 }

1.16 )



Mmax

Mmax a

Smax

Smax a

Smax

C
Mmax
©
1
9 W I
1
9 x 37.75> 3.00
37.75 (kN m)
1
oW | 2
1
o ><  37.75> 1.50
42 .47 (kN m)
©
3
5 W I
5 X< 37.75>3.00
67.95 (kN)
w | 2
37.75>1.50
56.63 (kN)
Mmax
Smax

42 .47
67.95

(kN m)
(kN)



Mmax 42 .47 (kN m)

67.95 (kN)

Smax
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b = 400
h = 400
d = 315
D16 < 4
As = 198.60
= 794.4
n = 15
As 794.4
b d -~ 400 =< 315
0.0063
kK j m

2 np (hp? nop

2>15> 0.0063 (15><0.0063 )2

0.350
k 0.350
1 3 =1 3
0.883
k _ 0.350
2 p = 2x0.0063

27.78

(mm)
(mm)
(mm)

x 4

(m?)

15> 0.0063



@

(@)
_ _ Mmax _ 42.47><10°
O = As j d T 794.4<0.883 < 315
= 192.3 (N/mm?2) o = 196.0 (N/mm?) 0K
®
O
_ o _ 192.3
C = m T 27.78
= 6.93 (N/mm?) o =17.0 (N/mm?) 0K
4)
T
__ Smax 67.95><10°
T = p j d T 400 =<0.883 > 315
= 0.611 (N/mm?) T = 0.400  (N/mm?) ouT
®)
U T
1 2
__ Smax 1 67.95>=103 1
T = U d j 2 © ( 50> 4)>x 315 <0.883 = 2

0.611 (N/mm?) T = 1.40 (N/mm?) OK
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Sc

Sv

L

1 ) 1
=5 T b d j=5>0.400>< 400 > 315>0.883
= 22252 (N)
= Smax Sc = 67.95 =<10°% 22252
= 45698 (N)

Sp 300 mm as
_ Sp Sv _ 300>< 45698
- o d J ~ 196.0>x 315>=<0.883
= 251.48 (mm?)

D13

126.70>< 2 = 253.40  (mm?) 251.48

as = 126.70 mm?

(mm?),

OK
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@

o = 18.0 (N/mm?)

u = 230 (mm)

D1 = 140 (mm)

b = 400 (mm)

A = b2 = 4002 = 160000
p o= ouz TP L g

= 37506 (mm?)

O

A
(0.25 0.05 p3 ) O

160000

(0.25 0.05% 37506 )> 18.0
8.33 (N/mm2)

50%

0.5 o = 0.5%18.0 = 9.00 (N/mn?)

o)
= 8.33  (N/mm?)
Td  205.0%103
Aa 37506
5.47 (N/mm2) o = 8.33 (N/mm2)

—

(mm?),

TT>< 1402

4

OK

]
..

\
7

P
~ —

-
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|d

ld

O sa (O]
4 Toa

196.0 < 16

4 < 1.40

560 (mm)

560 mm

O sa

Toa

16 (mm)
196.0  (N/mm?)

1.40 (N/mm?)



